
LOURDES CENTRAL SCHOOL, BEJAI, MANGALURU 
MODEL PAPER-ANNUAL EXAMINATION 2023 

CLASS: VSUBJECT: SCIENCE                       MAX MARKS: 60  DATE:  08 .03.2023   
    DURATION: 2HR15 MINUTES 

 
I. Choose the correct answer                       ½X6=3  
1._________ force prevents things from floating above the ground. 
a. muscular      b. elastic    c. frictional     
2. Solar panels convert solar energy into _______________ energy. 
a. geothermal  b. electrical  c. sound   d. water. 
3. The part of the brain that controls speech is the ________. 
a. cerebellum  b. cerebrum  c. brain stem  d. spinal cord 
4. The coloured part of the eye is called the _________. 
a. iris   b. pupil   c. nose  d. skin 
5. A solar eclipse occurs on a ____________day. 
    a. New Moon  b. Full Moon   c. gibbous Moon d. crescent Moon 
6. ___________blocks the harmful ultraviolet rays of the Sun. 
   a. Ozone   b. nitrogen   c. argon  d. oxygen 
 
II. Match the following                               ½X6=3 
                          A                                                      B 
1. Troposphere     a. ozone layer 
2. Stratosphere     b. meteors burn up 
3. Mesosphere     c. living things 
4. Greenhouse gas     d. Nitrogen 
5. Needed for burning    e. Carbon dioxide 
6.Major gas in air     f. Oxygen 
 
III. Write true and false                               ½X6=3 
1. Bacteria are known as consumers.  
2. Plants do not need oxygen they need only carbon dioxide.  
3. Plants are producers of food.  
4. Earthquake occurs when the plates in the crust slip past each other.  
5. The impure  form of water is called distilled water. 
6.The moon is not the closest heavenly body to us in the sky. 
 
IV. Fill in the blanks.                                    1X5=5 
1. During respiration the animals take in ____gas  & give out _______gas. 
2.  _________layer stops __________ rays from the Sun from reaching the Earth's surface. 
3. Distillation is a process of removing  insoluble  impurities by the method of ___and ______. 
4. Air contains nitrogen, oxygen ,______, __________ and water vapour. 
5. Plants depend on animals for ________and ________ of seeds. 
 
V. Name the following.                                 1X5=5 
1.The system that controls all other systems of the body. 
2. A special kind of light used to kill germs. 



3. The instrument that is used to see things far away . 
4. The natural satellite of the Earth. 
5.The gas that helps your body get energy from food. 
 
VI. Answer the following in a sentence.       1X12=12 
1. What is a  reflex action? 
2. What makes the skin behave as a sense organ? 
3. What is energy? 
4.What is geothermal energy? 
5.Name four types of simple machines. 
6.Why is there no rain on the Moon? 
7. What is Gibbous Moon? 
8. Who are secondary consumers? 
9. How does the Moon shine even though it does not have light of its own? 
10. What is the importance of communication satellites? 
11. Write any one important function of the brain. 
12. How does the pulley make our work easier? 
 
 VII. Answer the following in two to four sentences.    2X5=10 
1.Write short note on solar energy. 
2. Explain how a Lunar eclipse occurs?  
3.Why do you see different shapes of the Moon every night from the Earth? 
4.Explain sedimentation and decantation. 
5. How is food and water supplied to flooded villages? 
 
VIII. Answer the following in four to six sentences.  3X3=9 
1.Name the different types of forces and explain any two of them. 
2. What are different types of levers? Give two examples for each. 
3. What happens during a drought?                                                                                                   
 
IX. Answer the following in eight to ten sentences.                                               5X1=5  
1.What should you do when there is an earthquake? 
 
X. Draw the diagrams to show the first class lever, the second class lever and the third class  
     lever.  3  
 
XI. Think and answer                                        2 
1.If you throw away an empty mineral water bottle, it will pollute the land. If you burn it, it will  
cause air pollution. Can you think of a way of avoiding both? 
2. What do you think will happen if  all the plants on Earth disappeared? 
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Literature 
I. Fill in the blanks with the correct answers from the bracket.  ½ X 4 =2 
1. Sound made by teeth on extreme cold:_______   ( rattle / chatter) 
2. Anju loves to ____ ( make / do) paper boats. 
3. The police inspector who caught the culprit Gattu was ______ ( Mani / Naresh) 
4. The name of the king of Vijaya Nagara was _____ ( Tenali Raman / 
Krishnadevaraya) 
 
II. Write the correctly spelt word from each group.    ½ X 4 =2 
1. prase  / phrase / phrese  
2. accommodate/ acommodate / acomodate 
3. soffen / soften/ sofen  
4. masccot / masscot / mascot 
 
III. Name the following.         ½ X 4 =2 
1. Display of  bad behavior:_____ 
2. Something inherited from past generation:_______ 
3. A person who imitates others:_____ 
4. An over in which no runs are scored :_______ 
 
IV. Match the following.         ½ X 5 =2½ 
1. To feel that something was wrong    similar people 
2. Code that can infect the other programmes  in the  
    computer        rumbling 
3. Birds of a feather          brainwash 
4. Low continuous noise      virus 
5. To convince or influence someone strongly  suspicious 
 
V. Write the meanings for the following words.     ½ X 5 =2½ 
1. sorts out     2. reflects        3.gestures       4.ruffians       5.a rousing reception 
 
VI. Answer the following in a sentence.      1X3=3 
1.Write a difference between human brain and the computer. 
2. Why did Raju think that the man he saw was the thief? 
3. What reward did the king offer to Tenali Raman? 
 



 
VII. Answer the following in two to four sentences.    2X3=6 
1. Why was Uncle Ken's visit to Lucknow was memorable? 
2. "Come back you stupid silly girl". Who said this sentence to whom? Why? 
3. What are the main attractions of the Hornbill Festival? 

Grammar 
VIII. Pick up the prepositions from  the following sentences and write.½ X 6 =3 
1. Danny returned to his house before sunrise. 
2. There are a few Spanish speakers among the students. 
3. The children played basket ball in the park. 
4. I came from a small family. 
5. Ramsay is tall with black hair and blue eyes.  
6. The car is passing through a tunnel. 
 
IX. Fill in the blanks with the correct determiners from the bracket. ½ X 6 =3  
1. I don't have _____ pens to share with you. ( much / many) 
2. I need _____ olive oil. ( any / some) 
3. There is very ____ light in the room. ( a lot of / little) 
4. I spilt ___ ink on my shirt. ( few / some) 
5. How ___ time would it take for a mango tree to grow? ( many / much) 
6. We bought _____ dresses for the wedding. ( any / some) 
 
X. Fill in the blanks with the correct articles.     ½ X 6 =3 
1. Geography is _____ interesting subject. 
2. I washed __ yellow and ____ black top together. Now ___ yellow top has black 
patches.  
3. My friend gave me ___ watch and a book on my birthday. ____ watch belong to her 
great  grandmother.  
4. River Nile is ____ longest river in the world. 

XI. Complete the following table.       ½ X 8 =4 
Positive degree Comparative degree  Superlative degree 
tasty   
 more foolish  
  fullest 
  best 
 
XII. Underline the adverbs in the following sentences and write the type of 
adverb.            1X4=4 
1.We bought a new car recently. 
2. I politely asked my grandmother if she would like a cup of coffee. 
3. Lately, Tim has not been going to his dance classes. 
4. Seem usually takes her dog for a walk in the evenings. 



 
XIII. Join each pair of sentences using the correct conjunctions and rewrite the 
correct sentences.            1X3=3 
1.Would you like a slice of cake? Would you like a sandwich? 
2. I love most fruits. I am not too fond of guava. 
3. Dimple loves bikes. They are fun to ride.  
 

Comprehension Passage 
XIV. Read the following paragraph and answer the question given below. 5 
   Gandhiji stayed in Champaran for seven months. He discovered that the main cause of 
people's suffering was their ignorance and that could only be fought through Education. 
Soon, he invited his followers to help. They opened primary schools in six villages. 
Kasturba also helped in teaching them personal hygiene and community sanitation. A 
doctor volunteered to treat the sick and a medical team worked for the improvement of 
the villagers' health. The local authorities were impressed with Gandhiji's way of working 
and welcomed his efforts. The general condition of the farmers improved and they 
became self-reliant. Gandhiji became a 'mobile relief van' for Indians. While he was busy 
in Champaran, he received a letter from the textile workers of Ahmedabad. They wanted 
him to help them immediately. Gandhi took the first train and rushed to Ahmedabad with  
Kasturba. He spoke to the workers and studied their problems.  
1. Who accompanied Gandhiji to Ahmadabad? 
2. Who wrote a letter to Gandhiji? 
3.  Whom did Gandhiji  invite to help? 
4. What are the work done by Gandhiji to improve the life of the villagers? 
5. Give one word for the following: relating to a particular area or neighbourhood: 
6.  Find the antonym of the word dependent  from the paragraph. 
 
XV. Read the following paragraph and answer the question given below. 5 
There was once an old farmer who had a fine olive orchard. He was very industrious, and 
the farm always prospered under his care. But he knew that his three children were lazy. 
So he called his children to him and said, "There is a pot of gold hidden in the olive 
orchard. Dig for it if you want it." The children tried to get him to tell them in what part 
of the orchard the gold was hidden but he would tell them nothing more. Soon, the old 
man passed away. 
His children were eager to find the pot of gold. They decided to start at one end and dig 
the entire orchard. They dug until they had turned up all the soil, they dug round the tree-
roots and between them. But no pot of gold was to be found. The children were 
disappointed. However, the next olive season, the olive trees in the orchard bore more 
fruit than they had ever given before. The fine cultivating they had from the digging 
brought so much wonderful fruit that when it was sold it gave the children a whole pot of 
gold! They finally understood what their wise father had been trying to tell them. 
 
 



 
 
1.  Choose words from the bracket  to fill in the blanks.  
  (gold,  lazy, keen, greedy quality, olive) 
 a. The farmer had an ______ orchard.  
 b. The children were ______ but ______ 
 c. They were _______ to find the pot of gold. 
 2.What did the farmers tell his children? 
3.Why did the orchard bare more fruits than they had ever given before? 
4.Find out the antonym of the word active from the paragraph. 
5.Find the word from the paragraph which means :an area of land devoted to the 
cultivation of fruit trees or nut trees: 
 

Creative Writing. 
 
XVI. Write a paragraph about your favorite subject.     3 
 
 XVII. Describe the given picture in six to eight sentences.    3 
 
   
 
 
  
 
 
 
 
 
 
 
 OR  
XVII. Select any three idioms of your choice from the given list and frame 
sentences of your own. 
1. piece of cake                     2. as cool as cucumber                     3. break a leg   
4. give someone the cold shoulder     5. hit the sack                    6. spill the beans 
 
XVIII. Imagine your school has organized an essay writing competition and 
you are in charge of the competition. Write a letter to the parents informing 
them about the competition and to encourage their wards to enroll for the 
competition. The letter should include the following. 
Venue, date, duration, time, rules         4 



®Æqïðì ¸É0læ¯ï ¸ÀÆÌ¯ï ©eÉÊ - ªÀÄ0UÀ¼ÀÆgÀÄ 

 ªÀiÁzÀj ¥Àæ±Éß ¥ÀwæPÉ – PÀ£ÀßqÀ  

vÀgÀUÀw : 5     ¸ÀªÀÄ0iÀÄ: 2½ UÀ0mÉUÀ¼ÀÄ  C0PÀUÀ¼ÀÄ:  60 

*************************************************************************.********* 

1. CxÀðªÀ£ÀÄß §gÉ¬Äj.          ½x10=5 
1. ¢Ã£ÀvÉ  2. £ÀÄr 3. £ÉvÀÛgÀÄ 4. ¥ÀjªÉ 5. ¨ÉgÀUÀÄ 

6. ¨sÀÆµÀt 7. PÀ0UÀÄ 8. ªÉÃµÀ 9. ¤µÉÃzsÀ 10. GzÁgÀ 

 

II. ¸ÀªÀiÁ£ÁxÀðPÀ ¥ÀzÀ §gÉ¬Äj.         ½x10=5 
1. «°Ã£À 2. £À¨sÀ  3. J¼É0iÀÄªÀ 4. a0vÀ£É 5. DUÀæºÀ 

6. ªÀiË®å 7. vÀ0mÉ 8. ªÉÄvÀÄÛ 9. ªÀiÁvÉ 10. £ÉUÉ 

 
III. ¸Àé0vÀ ªÁPÀåªÀ£ÀÄß §gÉ¬Äj.         1x5=5 

1. KPÁUÀævÉ 2. PÀtÄäaÑ 3. ªÀÄÆqÀt 4. «±Áé¸À 5. G¥Á0iÀÄ 

 
IV. «gÀÄzÁÞxÀðPÀ ¥ÀzÀ §gÉ¬Äj.         ½x10=5 

1. gÁUÀ x 2. ªÀÄÆqÀt  x 3. ºÀÄlÄÖ x  4. D¸É x 5. ¨sÀ0iÀÄ x 
6. §qÀªÀ x 7. «ZÁgÀ  x 8. C§® x  9. PÀµÀÖ x 10. d£À£À x 
 

V. ºÉÆ0¢¹ §gÉ¬Äj.          1x6=6 
 1. ±ÁåªÀ0vÀæªÀé   – dUÀ¼ÁqÀÄªÀ£ÀÄ  

 2. £ÀvÀÄÛ  -  ¥À0eÉ ªÀÄ0UÉÃ±ÀgÁ0iÀÄ 

 3. PÀvÀÛ¯ÉÆqÀ£É - §¸À¥Àà 

 4. GzÀ0iÀÄgÁUÀ - ªÀÄÆUÀÄw 

5. C0UÀPÉ  - gÁªÀÄ¸Áé«Ä C0iÀÄå0UÁgï 

 6. eÁ£ÀPÀªÀÄä  - gÀ0UÀ£ÀÄ ªÉÄvÀÄÛªÀ£ÀÄ 

 

VI. ¥ÀzÀªÀ£ÀÄß ©r¹ §gÉ¬Äj.         1x5=5 
1. CzsÁðuÉ   = _______ +  ________ 

2. ºÁªÉÇ0zÀÄ  = _______ +  ________ 

3. £ÀÆgÁgÀÄ   = _______+  ________ 

4. dUÀ¼ÁªÁqÀÄ  = _______+  ________ 

5. M0zÉgÀqÀÄ  = _______+  ________ 

 

VII. ¸Àj0iÀiÁzÀ ¥ÀzÀªÀ£ÀÄß Dj¹ §gÉ¬Äj. 

(ºÉÊzÁæ¨Ázï, ªÀÄgÀt, J¯ï.J¸ï, d0§tÚ CªÀÄgÀa0vÀ, ¸ÀtÚUÉ)    1x5=5 
1. Dgï. PÀ¯ÁåtªÀÄä£ÀªÀgÀÄ ___________¥ÀjÃPÉë0iÀÄ°è GwÛÃtðgÁzÀgÀÄ.  

2. ¨sÁgÀvÀPÉÌ ¸ÁévÀ0vÀæ÷å zÉÆgÉvÀgÀÆ __________¨sÁgÀvÀzÀ°è «°Ã£ÀªÁUÀ°®è.  

3. ¨Á£ÉÆ¼ÀÄ KjzÀ gÀ« __________ vÉÆÃgÀÄªÀ£ÀÄ. 

4. CªÀÄä ¥ÀzÀåzÀ PÀ« _____________ 

5. ±ÀQÛ0iÉÄÃ fÃªÀ£À, zË§ð®åªÉÃ ___________ 

 



VIII. 0iÀiÁgÀÄ 0iÀiÁjUÉ ºÉÃ½zÀgÀÄ?         1x4=4 
1. “¥ÁætÂUÀ¼À vÀ0mÉUÉ ºÉÆÃUÀ¢zÀÝgÉ CªÀÅö £ÀªÀÄä£ÀÄß K£ÀÄ ªÀiÁqÀÄªÀÅ¢®è.” 

2. “¨sÀ0iÀÄzÀ ªÀiÁvÀÄUÀ¼À£ÀÄß £À0§¨ÁgÀzÀÄ”. 

3. “ªÀÄUÀÄ £À£ÀUÉ £À®ªÀvÀÄÛ PÉÆÃn §0zsÀÄ”. 

4. “ªÀÄUÀÄ £À£Àß ºÀwÛgÀ ºÀt J°èzÉ? £Á£ÀÄ vÀÄ0¨Á §qÀªÀ”. 

 

IX. ©lÖ ¸ÀÜ¼À vÀÄ0©j.          1x4=4 
1. PÀ¯ÁåtªÀÄä£ÀªÀgÀÄ ºÀÄlÄÖ ºÁQzÀ ¥ÀwæPÉ0iÀÄ ºÉ¸ÀgÀÄ ___________ 

2. gÀ« PÀvÀÛ¯ÉÆqÀ£É ___________ 

3. £ÀgÉÃ0zÀæ¤UÉ ¨sÀÆvÀzÀ §UÉUÉ _____________ EvÀÄÛ. 

4. £ÀgÉÃ0zÀæ£ÀÄ _____________ ªÀiÁqÀÄwÛzÁÝUÀ ªÉÄÊªÉÄÃ¯É ºÁªÀÅ ºÀjzÁrvÀÄ. 

 

X. ¥Áæ¸À ¥ÀzÀUÀ¼À£ÀÄß §gÉ¬Äj.         1x4=4 
1. ªÀÄÆqÀÄªÀ£ÀÄ  - 

2. §0UÁgÀzÀ  - 

3. UÉgÉ0iÀÄ£ÀÄ - 

4. gÀ«  - 

 
XI. M0zÀÄ ªÁPÀåzÀ°è GvÀÛj¹j.         1x12=12 

1. PÀ¯ÁåtªÀÄä 0iÀiÁgÀ K½UÉUÁV a0w¹zÀgÀÄ? 

2. ªÀÄUÀÄ«£À ªÉÆzÀ® ¥ÁoÀ±Á¯É 0iÀiÁªÀÅzÀÄ? 

3. gÀ« J°è PÀÄtÂzÁqÀÄªÀ£ÀÄ? 

4. PÀ¯ÁåtªÀÄä£ÀªÀgÀ «ZÁgÀ ±ÀQÛUÉ ºÉÃUÉ ºÉÆ¼À¥ÀÅ §0vÀÄ? 

5. a£ÀßzÀ UÉgÉ0iÀÄ£ÀÄß gÀ« J°è J¼É0iÀÄÄªÀ£ÀÄ? 

6. £ÀgÉÃ0zÀæ vÉÆÃlzÀ°è 0iÀiÁjUÁV PÁzÀ£ÀÄ? 

7. PÀ« CªÀÄä£À£ÀÄß K£É0zÀÄ PÀgÉ¢zÁÝgÉ?  

8. ¸Áé«Ä «ªÉÃPÁ£À0zÀgÀÄ d£ÀgÀ PÀµÀÖ ºÉÃUÉ CjvÀgÀÄ? 

9. gÁªÀÄPÀÈµÀÚ ¥ÀgÀªÀÄºÀ0¸ÀgÀÄ £ÀgÉÃ0zÀæ£À£ÀÄß 0iÀiÁªÀ ºÉ¸Àj¤0zÀ PÀgÉzÀgÀÄ? 

10. ºÀÄqÀÄUÀ ¨Á¥ÀÇfUÉ 0iÀiÁªÀ jÃw ¸ÀºÁ0iÀÄ ªÀiÁqÀÄªÀÅzÁV ºÉÃ½zÀ£ÀÄ? 

11. UÁ0¢üÃf ºÀtªÀ£ÀÄß KPÉ ¸À0UÀæ»¸ÀÄwÛzÀÝgÀÄ? 

12. ZÀgÀPÀ ¸À0WÀzÀ ¯ÉPÀÌ ¥ÀvÀæUÀ¼À£ÀÄß 0iÀiÁgÀÄ EqÀÄwÛzÀÝgÀÄ? 
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I. Choose the correct answer                     ½X6=3  
1. Which of these are like decimals? 

 a. 2.5,  2.50, 2.500     b. 2.5, 2.05, 2.005 

     c. 2.05, 2.50, 20.05     d. 2.5, 20.5  2.05 

2. A closed figure with seven straight sides will have  

a. 6 or 7 angles   b. Between 4 and 7 angles   c. 7 angles   d. 6 angles  

3. Using which of these before the basic unit makes it largest.  

a. deca    b. hecto    c. kilo     d. deci 

4. Area of a square is  

a. 4xside   b 2x side   c. Side x side   d. side x side x side 

5. How many seconds are there in a day? 

a. 24 sec   b. 60 x 60 sec  c. 24 x 60 sec   d. 24 x 60 x 60 

6. What is the reading on a thermometer when water starts freezing. 

a. 0° F    b. 0 °C    c. 32° F     d. Both b and c 

II. Match the following                                 ½X6=3 

1.    90° 
 

 
2.            360° 
 
3.         0° 
 
 
4.          180° 
 
 
5.         120° 
 
6.          60° 
 
 



 
III. Write true and false                             ½X6=3 
1 3.5 =3.500 

2. Less than 90˚ is a acute angle.  

3. 1 hm = 10 m 

4. Normal body temperature is 98.4° F 

5.     5 
1

4
   minutes is equal to 5 min 25sec 

6. A circle graph shows data as parts of a full circle 

IV. Fill in the blanks.                                 ½X6=3 
1.   38 ÷ 100=  

2. ------- is used to draw and measure angles  

3. 1kg =-----g 

4. The area of a square =36sq cm. It's side ----- 

5. 545 minutes = ------- seconds  

6. 100°C = -------°F 

V . Solve the following.         1x12=12 
1. Multiply 6.25 by 8 

2. Convert 645ml to litre  

3. Find the perimeter of a square whose length is 44cm.  

4. Find the time: 50 minutes before 12noon. 

5. Find the date :28 days  before 26 January 2023. 

6. Convert 10 
1

2
   minutes into seconds.  

7. Convert 12 hrs into minutes.  

8. Find the volume of cube whose side is 20cm. 

9. Convert 670deci meter  into metre. 

10. Convert 0.025 kg to gram. 

11. Arrange in ascending order.  

0.41 0.14  0.014   0.041 

 

 



 

 

12. Identify each as  a geometrical concept.          

 a.                         b.                         c.                             d.       . P 

VI. Do as directed.          2x10=20 
1. Add: 5.65, 0. 657, 9.9 

2. Subtract 3 litre 695ml from 4 litre 455 ml. 

3. Find the area of a rectangle whose length is 8.4cm and breadth is 9.5cm. 

4. Subtract 10h 10min from 12hours 

5. Divide 45.18 by 9. 

6. Add 10cm 8mm, 11cm 5mm, 13cm 7mm. 

7. Find the volume of cuboid  whose length is 2.5m, breadth 6m and height 1.5m. 

8. Add 4 years 8 months  and 8 years 11 months  

9. Find the perimeter of rectangle whose length is 18m and breadth is 20m. 

10. Multiply 4.56 by 42.  

VII. Solve the following.         3x3=9 

1. The speed of a truck is 45km per hour. What distance does it cover in 5 hours? 

2. 10 pictures of Sarojas's birthday have to be framed.  Each picture is of  length 10cm and  
breadth 8cm. Find  

a) the length of the wooden frame required to frame the pictures.  

b). the area of the glass required to cover the front of the pictures.  

3. A teapot has 2.5 litre of tea. It is poured in cups with a capacity of 250ml each. How 
many cups can be filled? 

VIII. Activity  
1. The table is record of Abdul's height from birth to 8 years. Represent the data on a line 
graph and bar graph.           2 
YEARS Height  
Birth 30cm 
2 60cm 
 4 90cm 
6 100cm 
8 120cm 
 



 

2. Construct an angle of 135˚ and  name it.       2 

IX. Think and answer.     1x3=3 

1.Which number will replace the question mark? 

 

 

2. Count the number of triangles in the given figure.  

 

3. What is the missing number in the given number matrix? 

  

4 ? 2 
3 5 7 
8 1 6 
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I. Choose the correct answer                         ½X6=3  
1. The Lok Sabha is presided over by the _______   ( President/ Speaker/ Vice President) 
2. The congress leaders who preferred a soft persuasive approach towards the British were known as 
____________  ( radicals/ revolutionaries/ moderates) 
3. The revolt of 1857 started in the city of _______ ( Meerut/ Delhi/ Mumbai) 
4. Total no of member courtiers in the UN ______  ( 197/193/194) 
5. The famous speech " I have a dream" was given by ______ ( Martin Luther King/ Mother Teresa/ 
Abraham Lincoln ) 
6.Instrument measured to use body temperature is _______   ( Clinical thermometer/ stethoscope/ 
microscope) 
 
II. Match the following                                  ½X6=3 
1. Freedom from hunger     UNESCO 
2.Promotion of education, science, culture  1928 
3.Welfare of the  Children of the world   FAO 
4.Government of India Act     1930 
5.Purna Swaraj      UNICEF 
6.Simon Commission     1935 
 
III. Write true and false                                 ½X6=3 
1. A chemical that kills germs are called antiseptic:_______ 
2.Abraham Lincoln fought and won the battle against slavery in the South Africa:______ 
3.In 1858, The British Government  took direct control of  India:_________ 
4.The radicals believed in fighting the British with arms:_____ 
5.After World War II, the British Government decided to free India:______ 
6.The High Court is the highest court in our country:_______ 
 
IV. Fill in the blanks.                                      1X5=5 
1. __________ is the nominal head of our country and _____ is the head of the Government  of India. 
2.___________ demanded separate nation for the Muslims. But _____ was against the division of 
India. ( Write the names of the personalities) 
3. _____ magnifies an object and ____ take the picture of the inside of a person's body. 
4.The famous quote given by Bal Gangadhar Tilak iss:_____________________ 
5.Two simple rules to stay healthy are: _______ and __________. 
 
V. Name the following.                                  1X5=5 
1. The two houses of the Parliament of India:_________ and _________ 
2.Two social reformers: ___________ and __________ 
3.Two moderate leaders:__________ and __________ 
4. Two leaders of first war of Independence: ________ and _________ 
5.Two specialized agencies of the UN : _______ and ________ 



 
VI. Answer the following in a sentence.             1X12=12 
1. What was  Louis Pasteur's important contribution to the field of medicine? 
2.Name the army organized by Subhash Chandra Bose. 
3.Who was the Last Mughal Emperor? 
4.What vow did the Missionaries of Charity take? 
5. What is aparthied? 
6.Name the 5 permanent members of the Security Council? 
7.Why were the British able to crush the Revolt of 1857? 
8.Name the 4 European countries that started trading with India? 
9. Why did the reformers want to educate the people of India? 
10.After which incident did Gandhiji launch the Non - Cooperation Movement? 
11. What is the responsibility of the courts? 
12.State the responsibility of the Central Government. 
 
 VII. Answer the following in two to four sentences.                                              2X5=10 
1. What was Civil Disobedience Movement? How did it start? 
2.Why did the Congress ministries in the Province resign after World War II started? 
3. What gave the British an opportunity to start gaining control over India? 
4.Why was the United Nations formed? 
5. Why did many people in the Southern States of the USA dislike Abraham Lincoln? 
 
VIII. Answer the following in four to six sentences.                                                  3X3=9 
1. Why is the discovery of antibiotic considered to be an important milestone in the development of 
medicine? 
2.Name the six organs of the UN. Which organ is the most powerful? 
3.Name the three levels of government in India. 
 
IX. Answer the following in eight to ten sentences.                                                  5X1=5  
1. What did Gandhiji do as soon as he came back to India? 
     OR 
1. a.Why did the British think of partioning Bengal?  
    b. What was Swadeshi Movement? 
 
X.     Identify the following pictures.                                                      3  
 
 
 
 
  
  
            1.                  2.                       3.                               4.                         5.                    6. 
XI. Think and answer                                      2 
1. Can you cast your vote in the upcoming election for the Karnataka State Legislative Assembly? 
Why? 
2. Recently India helped a country which experiences a massive earthquake. Name the country. Why 
did India help them? 



लूर्ड्स सेंट्र ल सू्कल मंगलुरू 

       कक्षा-5 विषय- वहंदी मॉर्ल प्रश्न पत्र  कुल अंक-60  2 घंटे् 15 वमनट् 

1. नीचे वदए गए गद्ांश को पढ़कर प्रश्नो ंके उत्तर वलखिए-    (5)

 क) गरमी के इस प्रकोप से अपने आपको बचाने के लिए मनुष्य ने उपाय खोज 

लनकािे हैं । साधारण आय वािे घरोों में लबजिी के पोंखे चि रहे हैं , जो नर-नाररयोों की 

पसीने से रक्षा करते हैं । अमीरोों के यहााँ वातानुकूिन योंत्र िगे हैं । समथथ  जन गरमी से 

बचने के लिए पहाडी स्थिोों पर चिे जाते हैं और जे्यष्ठ की तपती दोपहरी पहाड की ठों डी  

हवाओों में लबताते हैं। प्यास बुझाने के लिए शीति पेय है | बर्थ  और बर्थ  से बने पदाथथ 

ग्रीष्म के शतु्र और आम िोगोों के लिए वरदान हैं। 

1. गरमी के प्रकोप से बचने के लिए लकसने उपाय खोज लनकािे हैं ?    

2. अमीरोों के यहााँ क्या िगे हुए हैं ? 

3.  समथथ जन गरमी से बचने के लिए कहााँ चिे जाते हैं ? 
िाली जगह भररए  

4.  शीति पेय ______________ बुझाती है | 

5. बर्थ  और बर्थ  से बने पदाथथ ग्रीष्म के शतु्र और आम िोगोों के लिए _________हैं। 

ि) प्रते्यक व्यक्ति के जीवन में लवद्यािय का बहुत महत्त्व होता है। प्रते्यक लशलक्षत 

व्यक्ति अपने जीवन में लशक्षा ग्रहण करने का आरोंभ लवद्यािय से ही करता है। लवद्यािय 

में दी जाने वािी लशक्षा का स्तर अच्छा होगा तो लवद्यालथथयोों का स्तर भी अच्छा होगा। एक 

लवद्यािय हजारोों लवद्यालथथयोों के हृदय में ज्ञान का प्रकाश भर देते हैं। शे्रष्ठ अध्यापकोों और 

अध्यालपकाओों को लवद्याथी अपने जीवन में सदा स्मरण रखते हैं। वे अपने लवद्याियोों को 

भी नही ों भूिते। 

1. प्रते्यक लशलक्षत व्यक्ति क्या करता है ?       (5) 

2. लवद्यालथथयोों का स्तर अच्छा कैसे होता है? 
3. लवद्यािय कैसे प्रकाश भर देता हैं ? 
िाली जगह भररए  

4शे्रष्ठ अध्यापकोों और अध्यालपकाओों को ______अपने जीवन में सदा स्मरण रखते हैं। 

5. प्रते्यक व्यक्ति के जीवन में __________का बहुत महत्त्व होता है। 

2.  व्यािहाररक व्याकरण        (1X20=20) 

लनम्नलिक्तखत प्रश्ोों के लिए उत्तर लवकल्ोों में से चुनकर लिक्तखए। 

1.  “ चेतावनी “ शब्द का अथथ है- 



क.साथ देना   ख. सचेत करना  ग.जोश भरना  घ.लिि जाना 

2. “ लहदायत “ शब्द का अथथ है- 

क.खजाना  ख.थमना   ग.सिाह   घ. साि  

3.” स्वीकार “ शब्द का लविोम है – 

क. नास्वीकार   ख.आस्वीकार  ग.अक्तस्वकार  घ.अस्वीकार 

4.” वि ” शब्द का लविोम है – 

क.बेवि  ख.सुवि ग.नावक़्त   घ.अवि  

5.” राजधानी” शब्द का बहुवचन है – 

क.राजधानीयोों  ख.राजधालनयोों  ग.राजधालनयााँ   घ.राजधालनयााँ    

6.” लसतारा “ शब्द का बहुवचन है – 

क.सीतारे ख.लसतारोों   ग.लसतारे       घ.सीतारोों 

7.” वन “ शब्द का पयाथयवाची है – 

क.वन ,कानन   ख.जोंगि कानन   ग.जोंगि वन   घ.कानून ,सररता  

8.” पहाड “ शब्द का पयाथयवाची  है – 

क.परवत,अचि  ख.पहाड अचि  ग.पवथत ,पहाड  ग.पवथत ,अचि  

8.” बािक “ शब्द का स्त्रीलिोंग है – 

क.बालिका  ख.बलिकोों  ग.बािीके   घ.बािीका   

9.” ससुर “ शब्द का स्त्रीलिोंग है – 

क.सास  ख.ससुरोों  ग.ससूर  घ.सााँस 

10.” समथथन “ शब्द का शुद्ध रूप है- 

क.समरथन  ख.समतथन  ग.स्मथथन  घ.समथथन  

11.” अलधयापक “ शब्द का शुद्ध रूप है – 

क.आध्यपक ख.अध्यापक ग.अध्यापकी घ.अदयापक 

12.” दाि न गिना “  मुहावरे का अथथ है – 



क.बहुत अच्छा करना  ख.बाधा दूर होना  ग.तरकीब न चिना  घ.धोका देना  

13.” आाँखो का तारा “ मुहावरे शब्द का अथथ है – 

क.बहुत  प्रयत्न करना  ख.बहुत प्यारा  ग.बहुत प्रसन्न होना  घ.बहुत थकजाना  

14. लवशेषण के लकतने भेद है ?- 

क. तीन  ख.पााँच  ग.चार   घ.दो  

15. मेरा कुरता दो मीटर कपडे से बनता है | इसमें “ दो मीटर “ उदाहरण है | 

क.अलनलित पररमाणवाचक लवशेषण ख) अलनलित सोंख्यावाचक लवशेषण 

ग) लनलित पररमाणवाचक लवशेषण   घ) सोंख्यावाचक लवशेषण 

16. सात िडके खेि रहे हैं |इसमे सात  उदाहरण है- 

क) गुणवाचक लवशेषण   ख) सोंख्यावाचक लवशेषण 

ग) अलनलित पररमाणवाचक लवशेषण  घ)पररमाणवाचक लवशेषण 

17.वह पेडोों के बीच से लनकिकर लकनारे –लकनारे चिने िगा | इसमे लियालवशेषण का 

शब्द है – 

क.बीच से  ख.चिने िगा  ग.लकनारे –लकनारे  घ.वह पेडोों 

18.वह तेज़ दौडता है | इसमे लियालवशेषण का शब्द है – 

क. है   ख. वह   ग.दौडता   घ. तेज़ 

19.कािा,लवशाि ,चतुर –कौन से लवशेषण के उदाहरण हैं  

क) गुणवाचक लवशेषण   ख) सोंख्यावाचक लवशेषण 

ग) अलनलित पररमाणवाचक लवशेषण  घ)पररमाणवाचक लवशेषण 

20.घाम शब्द का अथथ है - 

क.धोना  ख.धूप  ग.धाम  घ.धोका 

3.  वनम्नवलखित पवित गद्ांश को पढ़कर पूछे गए प्रश्नो ंके उत्तर विकल्ो ंमें से 

चुनकर वलखिए।         (4) 

 जोलजिा पास से आगे चिकर जवाहरिाि मतायन पहुाँचे तो वहााँ के नवयुवक कुिी ने 

बताया ,” शाब, सामने उस बर्थ  से ढ़के पहाड के पीिे अमरनाथ की गुर्ा है |”िेकीन 

शाब ,रास्ता बहुत टेढ़ा है | लकशन ने कुिी की बात काटी | “बहुत चढ़ाई है |और शाब 



दूर भी है |”लकतनी दूर जवाहरिाि ने पूिा | आठ मीि ,शाब कुिी ने जल्दी से उत्तर 

लदया |” बस! तब तो जरूर चिेंगे |” जवाहरिाि ने अपने चचेरे भाई की और प्रश्सूचक 

नज़र डािी | दोनोों कश्मीर घूमने लनकिे थे और जोलजिा पास से होकर िद्दाखी इिाके 

की ओर चिे आए थे | 

1. लकस पास से आगे चिकर जवाहरिाि मतायन पहुाँचे ? 

क.रोहताग पास   ख.लदहोंग पास   ग.जोलजिा पास   घ.लशपकीिा पास  

2. नवयुवक कुिी ने बर्थ  से ढ़के पहाड के पीिे क्या होने का दावा लकया ? 

क.गुर्ा  ख.जादुई गुर्ा  ग.अाँधेरी गुर्ा  घ.अमरनाथ की गुर्ा  

3.अमरनाथ  की गुर्ा लकतनी दूर थी ? 

क. 2 मीि ख. 8 मीि  ग. 6 मीि   घ. 5 मीि  

4.जवाहरिाि और चचेरे भाई कहााँ घूमने लनकिे थे ? 

क.मनािी  ख.हररद्वार  ग.कश्मीर   घ. मसूरी     

ि) वनम्नवलखित पवित काव्यांश को पढ़कर पूछे गए प्रश्नो ंके उत्तर विकल्ो ंमें से 

चुनकर वलखिए।         (4) 

“ वो इधर से लनकिा  

उधर चिा गया “ 

वो आाँखे रै्िाकर  

बतिा रहा था – 

“ हा बाबा बाघ आया उस रात , 

आप रात को बाहर ना लनकिो ! 

जाने कब बाघ लर्र से आ जाए !” 

हााँ वो ही वो ही जो  

उस झरने के पास रहता है  

वहााँ अपन लदन के वि गए थे न एक रोज़ ? 

बाघ उधर ही तो रहता है बाबा उसके दो बचे्च है  

बालघन सारा लदन पहरा देती है  

1.झरने के पास कौन रहता है ? 

क.सााँप  ख.चीता  ग.खरगोश घ.बाघ 

2.बाघ का वणथन लकसे बताया जा रहा है ? 

क.मााँ  ख.काका  ग.दादी  घ. बाबा  

3.बाघ के लकतने बचे्च है ? 



क.तीन  ख.दो   ग.चार  घ.पााँच 

4.बाघ लकसके साथ रहता है ? 

क.बच्चोों के साथ  ख.बालघन और बच्चोों के साथ  

ग.अकेिा रहता है  घ.बालघन के साथ  

4.वाक्य बनाइए- 1.पेट मिना  2.चुनौती      2 

5.वकसने ? वकससे ? कहााँ         3 

1.मैंने अभी –अभी नाश्ता लकया और हाथ –मुाँह धोने िगा था | बोिो सुबह –सुबह कैसे 

आना हुआ ? 

2.” तुम बेकार की कहालनयााँ सुनाती रहती हाँ | “ 

3.” साहब , हम लशकारी हैं ! हर साि लशकार के लिए यहााँ आते हैं |” 

6. पवित पाि / कविता के आधार परे वनम्नवलखित प्रश्नो ंके उत्तर वलखिए  

1.लकस महीने के आते ही नदी भरकर उतराने  िगती है ?    1 

2.कोको के माता –लपता कहााँ गए थे ?       1 

3.स्वामीनाथन दादी से क्योों लचढ़ गया ?       1 

4.लबशन काँ टीिे ताडोों की बाड से होकर क्योों नही ों लनकिा ?    2 

5.बाढ़ और अकाि लसके्कके दो पहिू हैं ,कैसे ?     2 

7.छात्रिृवत्त पाने के वलए प्रधानाचय् को प्राथ्ना पत्र वलखिए    4 

8. संकेत व ंदुओ ंके आधार पर वकसी एक विषय पर 7-8 िाक्ो ंमें अनुचे्छद 

वलखिए।          3 

जल ही जीिन है –*  जि ही जीवन का आधार  *  जि सोंरक्षण  

अथिा 

समय का उपयोग -* समय अमूल्य है    *  समय का महत्व  

9.वदए गए वचत्र को देिकर पााँच से छे िाक्ो ंमें वचत्र का िण्न कीवजए 3 

 


